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	QUESTION
	SC

	Let jll be a JAVA object of type LinkedList. What will happen if you use the command Object o=jll.getNext(); to attempt to read an element of jll ?

· the next element will be read

· won't compile, since there's no method getNext() in LinkedList

· runtime error, since the return element must be casted to an appropriate return type

· runtime error, if no Iterator is initialized, else the next element will be read
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	An Abstract Data Type  is a data type that is…
· …defined by its functionality, i.e. by methods that encapsulate the actual implementation
· …defined by its implementation details, e.g. an array or a linked list

· …a field of an abstract method

· …so advanced that no human being could possibly understand or use it yet
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	Let  jll be a JAVA LinkedList. Write a short code to display all data jll, using a for loop and an Iterator (use toString() to get a printable version of the data)
For (                                          ){
}
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	In JAVA, LinkedList is implemented as a double linked list with references to the first and last element. LinkedList owns a method ‘getLast()’. If the designers of JAVA would have decided to use a single linked list with a pointer to the first element only instead, would they have been able to implement ‘getLast()’ anyway?
· yes, without any difference in runtime behaviour.

· No, since the reference to the last element is missing

· Yes, the method would even be faster, since there’s less overhead to manage (only a single reference to change, not two).

· Yes, but the method would be slower
	2

	In german, the numbers ‘1,2,3’ are:
· Un, dos, tres

· Aynz, tswhy, dry

· Eins, zwei, drei

· angst, kindergarten, wanderlust
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	Assume a program has to access data in a JAVA LinkedList in reverse order, i.e. last element first. One programmer implements the function using an Iterator, another programmer uses indexing, i.e. ‘get()’. Which implementation is faster (using order of magnitude as the measure)?
· None, same order of magnitude

· Get

· Iterator

· It’s not possible to use an Iterator for backward traversal, so it’s get().
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